2

Q ¢ C

g 5 J 19

< o . @ 9 )|

£ ¢ 0 < & ! ad O

g 9 J o9 A g © a_a
F 4t =+*q,\..~+ 3ww.m ¢ ¢ | g
3 ¢ | a £ 1§ |k JVN- 1NN Ee Mol INE /I, Mk
g e g flE g gl E S [ ETS Il e e gl
alg-a i 2o o AUl 0 19 [a [l A Moo Mo R <
a1 1A g o O =L 3 « O 7 ed [0 7 7 SR inl 0] |0
. K O Ol I 1S = SV o T T g i BRERE

%Qf:\ A : uL

=

-

-

-
—

Ne—

——
-




.80 | Q< j‘

27 A2wa + FRa  + Sdm
= LFABO + :FXOOQ.W\ + A 00 e
= A0SARcna + BAOOam
- AR36A3am

- ARG ARW

I3FI0m + 30w — SSam

33F0am + 3ocm - SSamn
906 cm - SBem

—
=

—2

= 335 Acm
= 33,5 0w

47, 60m — 380dm + FOmm

LF60cm - JROO0am + Faom
R0 cm + Fam

= QJFtam
= DT

i

—
—

AT SO05S mm - 35 dw ASwmuane
AT SOBSmm — BBAS5 mm

7,=-.- /\38 30 W\m -
- 43,880 wm

—
—_—




.30 1 Audy 40 b;e;d

C;) UsS 2en - 3 33w - 245 A0Ftm - &
= 4sS30cm - 3 = 330 awm - 25 = 30¥em -6
= 344 Tlocem = ASS00cmn = S44200 i
= 3)\‘-1-.18\;“, = AQ0Swn = SVWW"LW\
| = 5 442 kwm
B) 3, 2w - 5% 2L dwm o - G4
= AL2AU0 o - S8 = 1hbam. G4
= 436 YOam = 464 6% am
_ = 4 36Y, 0w = 464, LY

i

4 3636 lem

Ao UFw - SF
= J04¥u - %
= 31583 m
= ?¥%3, 55 kem

m

— -
o\) Flom 337 W - 32, 2R ki AW - 65

_r F23¥Fwn - 3L = 2330w - 6S
= 236 ¥O4%wm = A2712SO0m

= 236 %o\ e A IR, S lem

Gk A2Bwn - I
= GASwm - 1%
= 433 FSOwm
= YY1 95 e



